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Elementary Algebra



#1 REDO




      

Chapters 1 and 2
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Name:

Show all work!     Always show enough work to show how you arrived at your answer.  If work is not shown, you may not earn full credit for the problem.  Work should be organized so that the steps can be followed in order, from start to finish.  
1. Write the following in mathematical symbols. (Just translate, do not solve!)
a)  The product of 
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and 7 is 21.

b)  The sum of 
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and 5 is 12.

c)  The product of 2 and 
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is equal to the difference of 9 and 
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.

2.
Simplify the following. (Show all work and circle the final answer)

a)
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b      
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3.
True or false (Print the words True or False)
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a)
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b)
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b)
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c)
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4.
Given the sets
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a) Find 
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b)
Find 
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5. Shade the appropriate region thoroughly! (These are any three sets, not the ones above.)
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6.
Factor into primes:   90
7. Evaluate the expression when 
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is 
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 and 
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is 5.



[image: image20.wmf]22

2

xxyy

++


8. Solve the following:
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9.
Solve the following:
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10. Solve:
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11. Solve
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for v.
12. 3% of what number is 50?

13. Solve the inequality and graph the solution.
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14. Solve  
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Write the solution in interval notation.

15. Four times the sum of a number and six is twenty eight. Find the number.

(let 
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= the number)

16. The length of a rectangle is 2 times as long as the width. If the perimeter is 90 meters, find the length and the width.

17. Mary Jo has $2.45 worth of nickels, dimes and quarters. The number of nickels is twice the number of dimes. The number of quarters is 1 less than the number of dimes. How many of each coin does she have?

Carefull!
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